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The domain of the function w is
X°—=9x+20
(A)R (B) R—{9%}
(C) R—{20} (D) R—{4,5}
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Range of f(x) = [x — 2|
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Range of function - is
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A real valued function f(x) satisfies the
functional equation.

f(x—y) = f0)f(y) - fla—x)f(a +y)

where a is given constant and f(0) = 1,
f(2a — x) is equal to
(A) —f(x)

(C) f(a) + fla—x)

(€ 1 3)

(B) f(x)
(D) f(x)
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Let > f(a+k)=16(2'°-1) where the
k=1
functin f satisfies f(x + y) = f(x) f(y) for all
natural numbers x, y and f(1) = 2. Then the
natural number ‘a’ is
(A) 2
(C) 4

(B) 16
(D) 3
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10.

If f: R — R satisfies f(x+ y) = f(x) + f(y), for
allx,y e Rand f(1) = 7, then »_ f(r) is

r=1

n(n+1 n
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A function f(x) is given by f(x)= ,
5 +5
then the sum of the series
f(ij+f(£j+ f(ij+....+f(§) s
20 20 20 20
equal to:
39 19
A) — B) —
(A) > (B) >
49 29
C) — D) =
©) > (D) >
The domain of the function

f(x) =log,,, (x* -1) is

(A) (3,-1) U (1, )

(B) [3,-1) U [1, x)

©) (3,-2u(2,-1Du (1,
(D) [3,-2) U (-2, ~1) U [1, «0)

Ifata=1b+p=2and

af(x)+af(l)sz+£,x¢0,thenvalue
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*Note* - If you have any query/issue

Mail us at support@physicswallah.org

a support@physciswallah.org
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